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Wie lautet die fehlende Zahl (bis 2 000)?

Addieren

Aufgabe 1 Aufgabe 2
1. 675 + = 1142 1. 869 + = 1488
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9. 055+ = 1660 9. 96+ = 1531
10. 050+ = 1368 10. 99+ = 1588
Aufgabe 3 Aufgabe 4
1. 836 + = 1 651 1. 814 + = 1558
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9. 508+ = 960 9. 62+ = 971
10. 524+ = 881 10. 568+ = 797
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* %

Wie lautet die fehlende Zahl (bis 2 000)? | ANTWORTEN

Aufgabe 1
1. 675 +
2. 371 +
3. 590 +
4. 911 +
5. 878 +
6. 417 +
7. 719 +
8. 331 +
9. 955 +
10. 950 +
Aufgabe 3
1. 836 +
2. 995 +
3. 677 +
4 926 +
5. 623 +
6. 711 +
7. 983 +
8. 616 +
9. 508 +
10. 524 +
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1142

651

1064

1753

1599

720

1422

582

1660

1368
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1066
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Aufgabe 2
1. 869 +
2. 643 +
3. 288 +
4, 682 +
5. 866 +
6. 845 +
7. 980 +
8. 614 +
9. 796 +
10. 799 +
Aufgabe 4
1. 814 +
2. 861 +
3. 393 +
4. 710 +
5. 719 +
6. 965 +
7. 745 +
8. 524 +
9. 662 +
10. 568 +

Addieren

619 = 1 488

202 = 845

268 = 556

638 = 1320

615 = 1481

534 = 1379

219 = 1199

223 = 837

735 = 1531

789 = 1588

144 = 1 558

806 = 1667

250 = 643

257 = 967

301 = 1020

333 = 1298

490 = 1235

287 = 811
309 = 971
229 = 797
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